Hy > 1500 GeV

N, Ny

Mr; [GeV]

Z— vy

Lost lepton

Multijet

Total background

Data

2-3j,0b

200 — 400
400 — 600
600 — 800
800 — 1000
> 1000

53 ﬂ:‘]‘(stat) +£2.7(syst.)
1.2 +0.3(stat.) +0.7(syst.)
0.4 £0.1(stat.) £0.2(syst.)
0.2 £0.0(stat.) 0.1(syst.)
0.2 £0.0(stat.) +0.1(syst.)

15 +ég(stat ) £0.2(syst.)

0.2 Tp%(stat.) +0.1(syst.)

0.1 +g(1,(stat) +0.0(syst.)
0.01 0.01(stat.) £0.01(syst.)
0.00 £0.00(stat.) 0.00(syst.)

1.6 £0.2(stat.) F32(syst.)
0.1 T4 (stat) T4 (syst.)
0.00 F000(stat.) £0.00(syst.)
0.00 T3 (stat.) £0.00(syst.)
0.01 +8 g%(stat ) *0 81 (syst.)

8.4 ig g(stat.) £3.5(syst.)

1.6 Ty5(stat.) £0.7(syst.)
0.5 £0.1(stat.) £0.2(syst.)
0.2 £0.0(stat.) 0.1(syst.)
0.2 £0.0(stat.) +0.1(syst.)

—_
'S

2-3j,1b

200 — 400
400 — 600
> 600

0.2 T3 (stat.) +0.1(syst.)
0.0 +03(stat.) +0.0(syst.)
0.0 1 4(stat.) £0.0(syst.)

0.0 703 (stat.) +0.0(syst.)
0.0 B 1(stat ) £0.0(syst.)
0.00 +g gg(stat ) £0.00(syst.)

0.5 £0.1(stat.) T07(syst.)
0.0 £0.0(stat.) T{5(syst.)
0.00 0.00(stat.) £0.00(syst.)

0.7 T08(stat.) £0.7(syst.)
0.1 tgg(stat) +0.1(syst.)
0.0 15 (stat.) £0.0(syst.)

2-3j,2b

> 200

0.0 ¥ 6(stat ) £0. O(syst )

0.0 T02(stat.) £0.0(syst.)

0.1 £0.0(stat.) T0%(syst.)

0.1 JrO(’(stat) *8:%(syst.)

OO O O = = O

4—6j,0b

200 — 400
400 — 600
600 — 800
800 — 1000
> 1000

7.6 tl‘S(stat.) To(syst.)
2.1 £0.4(stat.) £1.1(syst.)
0.8 T02(stat.) +0.4(syst.)
0.3 £0.1(stat.) 0.2(syst.)
0.2 £0.0(stat.) 0.1(syst.)

5.6 "1 (stat.) £0.8(syst.)
0.7 +g§(stat) +0.1(syst.)
0.2 £0.1(stat.) £0.1(syst.)
0.1 £0.0(stat.) £0.0(syst.)
0.05 *0:02(stat.) £0.03(syst.)

22 F3(stat.) +Zs(syst.)

1.5 *8 I(stat.) {2 (syst.)
0.0 0 (stat.) iOAO(systA)
0.0 {2 (stat.) £0.0(syst.)
0.1 *O 2(stat) +0 ?(syst )

35 T3(stat.) £29(syst.)

43 o 08 (stat.) +3.4(syst.)
1.0 8 07 (stat.) +0.4(syst.)
0.4 *0_2(stat ) £0.2(syst.)
0.4 fg%(stat.) +0.4(syst.)

NS
N

4—6j,1b

200 — 400
400 — 600
> 600

3.2 T3 (stat.) T17(syst.)
0.6 £0.2(stat.) “O3(syst.)
0.5 t02(stat.) +0.3(syst.)

2.1 T3 (stat.) £0.4(syst.)
0.4 iO 2(stat.) 0.1(syst.)
0.2 +0.1(stat.) £0.1(syst.)

8 il(stat ) Ti0(syst.)
0.5 +0.2(stat.) +}J (syst.)
0.0 £0.0(stat.) o, (syst)

13 £2(stat.) +10(syst.)
1.5 T4(stat.) £1.2(syst.)
0.7 £0.2(stat.) +0.4(syst.)

4—6j,2b

200 — 400
400 — 600
> 600

0.0 +3 g(stat ) £0.0(syst.)
0.00 F00%(stat.) £0.00(syst.)
0.00 Foa(stat.) £0.00(syst.)

0.4 "1 9(stat.) £0.1(syst.)
0.1 Tpd(stat.) £0.0(syst.)
0.00 40.00(stat.) £0.00(syst.)

2.3 4+0.3(stat.) f >3(syst.)
0.2 £0.1(stat.) F05(syst.)
0.00 "% (stat.) FoO2(syst.)

2.7 Tii(stat) f%;a(sys’r.)
0.2 +0.1(stat.) T3 (syst.)
0.00 F0%%(stat.) Too2(syst.)

> 7j,0b

200 — 400
> 400

1.1 707 (stat.) £0.8(syst.)
0.5 03 (stat.) +0.4(syst.)

1.4 FI%(stat.) £0.3(syst.)
0.3 F03(stat.) £0.1(syst.)

9 +1(stat.) Hz(syst)
0.6 03 (stat.) T (syst.)

12 T3(stat.) £12(syst.)
15 ‘06(stat) +1.5(syst.)

> 7, 1b

200 — 400
> 400

0.1 T3 (stat.) +0.1(syst.)
0.1 +3%(stat) +0.1(syst.)

2.5 Tid(stat.) £0.5(syst.)
0.4 £0.2(stat.) £0.2(syst.)

4.8 T08(stat.) +4 8(syst )
0.3 40.1(stat.) *0 % (syst.)

74 . “(stat) +6.4(syst.)
0.8 fg ;(stat ) £0.8(syst.)

> 7j,2b

200 — 400
> 400

0.1 T3 (stat.) £0.1(syst.)
00 gé(stat ) +0.0(syst.)

1.9 FI9(stat.) £0.3(syst.)
0.2 iO 1(stat.) £0.1(syst.)

1.3 T0%(stat.) 71 (syst)
0.1 +0.0(stat.) © ‘ (syst)

3.3 Tl (stat.) £1.9(syst.)
0.3 £0.1(stat.) +0.2(syst.)

2—6j, > 3b

> 200

0.0 })(stat ) £0.0(syst.)

0.0 T03(stat.) £0.0(syst.)

0.3 +0.0(stat.) f 02 (syst.)

0.3 T00(stat.) T05(syst.)

>7, > 3b

> 200

0.0 70 (stat.) £0.0(syst.)

0.6 T03(stat.) +0.2(syst.)

0.5 +0.1(stat.) T05(syst.)

1.2 F03(stat.) +0.8(syst.)
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